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Figure 3: Architecture of the split point encoder.

he = {he1, . . . , heN}, which are further fed into
a bi-directional GRU network to get the final se-
quence of encoded EDUs h′e = {h′e1, . . . , h′eN}.

For the convenience of calculation, we first add
two additional zero vectors on the start and end
of the EDU sequence as stubs. Then, we use a
convolutional network to compute the final split
point representation. Here, the width of the convo-
lution kernel is set to 2, and the Rectified Linear
Unit (ReLU ) activation function is employed to
map the input h′e = {h′e0, h′e1, . . . , h′eN , h′e(N+1)}
to the output hs = {hs0, hs1, . . . , hsN}.

Figure 3 takes the example as shown in Figure 1
to demonstrate the working procedure of the s-
plit point encoder. The input is the achieved 7
EDU encoding results during the EDU encoder
stage, i.e., the vector sequence {he1 . . . he7}. The
output is the 8 split point representation vectors
{hs0 . . . hs7}, where, the first and last vectors are
just stubs and the remaining 6 vectors are meaning-
ful outputs for following stages.

3.3 Attention-based Encoder-Decoder on
Split Point Ranking

After achieving the representation of each split
point, an encoder-decoder with an internal stack is
employed to rank the split points and indirectly get
the predicted discourse parse tree.

Figure 4 shows the complete encoder-decoder
framework, where the left part shows the encoder.
Here, the achieved split point representation vec-
tors hs = {hs0, hs1, . . . , hsN} are fed into a bi-
directional GRU network to get the output hse =
{hse0, hse1, . . . , hseN}. At the same time, the com-
bination of the last states of the bi-directional GRU
network in both directions are taken as the initial
state of the decoder. During the decoder stage, a
uni-directional GRU network with an internal stack
is employed for our discourse parser. Initially, the
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